Ciry4dariHble NpoLecChl Hazmos M. A, rpynma 412

3agada 33. Ilyctb {W,,t € [0,1] € R} - myaccoHoBckui npouecc. [lonoxum
Y =vb —aW (Zi—i) ,t € [a,b]. BBIYHUCAUTL COBMECTHYI0 XapaKTEPHUCTHYECKYIO

GYHKIMIO CIy9alHbIX BeIMIMH Yy, — Y, , Ve, — Y, mnamobeixa < t; <t; <tz <b.

Penienue:

¢(u1Ju2) = Eel(ul(ytz_Yt1)+u2(yt3_yt2)) =

i(u1<mw(t;j 2)-vB=aw (B=2) s (VE=aw (5

a
a a

e )-vr=aw(5=2)))

b—a

{T. K. [W (tz_a) -W (t;_a)] ~Pois (/'1 %), XapaKTepUCTUYeCcKad byHKIMA

IIyaCCOHOBCKOTO Mpoliecca ¢ mapamMeTpoM A: exp (e’“ — 1)}

b—a

exp (eu“b_“’lt?;:_ctzl — 1) exp (e”2 bar=gt _ 1)

Vh—gatz—t = t3—t2 u 2=t u a3z te
=exp(eu1 bmal—e 4 VPl —2) = exp(e Whma + e"?" Vb-a _2)_

u l—tz_tl u At3_t2
OtBeT: ¢ (uy,u,) = exp (e " b=a + e 2" Vb-a — 2).



